Revision Answers

Chapter 7 Income Taxes
Answer 1 – Ghorse
(a)

· The two manufacturing units meet the criteria for classification as held for sale and are, therefore, deemed to be a disposal group under IFRS 5 ‘Non-current Assets Held for Sale and Discontinued Operations’ as the assets are to be disposed of in a single transaction.
· The measurement basis required for non-current assets held for sale is applied to the group as a whole and any impairment loss will reduce the carrying amount of the non-current assets in the disposal group in the order of allocation required by IAS 36 ‘Impairment of Assets’.
· Before classification as held for sale, evidence of impairment will be tested on an individual cash generating unit basis, but after classification it will be done on a disposal group basis.
Immediately before the initial classification of the asset as held for sale, the carrying amount of the asset will be measured in accordance with applicable IFRSs.
· On classification as held for sale, disposal groups that are classified as held for sale are measured at the lower of carrying amount and fair value less costs to sell.
· Impairment must be considered both at the time of classification as held for sale and subsequently. Immediately prior to classifying a disposal group as held for sale, it must measure and recognise impairment in accordance with the applicable IFRSs.
· Any impairment loss is recognised in profit or loss unless the asset had been measured at a revalued amount under IAS 16 ‘Property, Plant and Equipment’ or IAS 38 ‘Intangible Assets’, in which case the impairment is treated as a revaluation decrease. On classification as held for sale, any impairment loss will be based on the difference between the adjusted carrying amounts of the disposal group and fair value less costs to sell. Any impairment loss that arises by using the measurement principles in IFRS 5 must be recognised in profit or loss.
· Thus Ghorse should not increase the value of the disposal group above $105 million at 30 September 2007 as this is the carrying amount of the assets measured in accordance with applicable IFRS immediately before being classified as held for sale (IAS 36 and IAS 16).
· After classification as held for sale, the disposal group will remain at this value as this is the lower of the carrying value and fair value less costs to sell, and there is no impairment recorded as the recoverable amount of the disposal group is in excess of the carrying value.
· At a subsequent reporting date following initial classification as held for sale the disposal group should be measured at fair value less costs to sell.
· However, IFRS 5 allows any subsequent increase in fair value less costs to sell to be recognised in profit or loss to the extent that it is not in excess of any impairment loss recognised in accordance with IFRS 5 or previously with IAS 36. Thus any increase in the fair value less costs to sell can be recognised as follows at 31 October 2007:
	
	$m

	Fair value less costs to sell – Cee
	40

	Fair value less costs to sell – Gee
	95

	
	135

	Carrying value
	(105)

	Increase
	30

	
	

	Impairment recognized in Cee (50 – 35)
	15


· Therefore, the carrying value of the disposal group can increase by $15 million and profit or loss can be increased by the same amount, where the fair value rises. Thus the value of the disposal group will be $120 million. These adjustments will affect ‘Return on Capital Employed’ (ROCE).
(b)

The differences between the IFRS carrying amounts for the non-current assets and tax bases will represent temporary differences.
· The general principle in IAS 12 ‘Income Taxes’ is that
· deferred tax liabilities should be recognised for all taxable temporary differences.

· A deferred tax asset should be recognised for deductible temporary differences,
· unused tax losses and unused tax credits to the extent that it is probable that taxable profit will be available against which the deductible temporary differences can be utilised.
· A deferred tax asset cannot be recognised where
· it arises from negative goodwill or
· the initial recognition of an asset/liability other than in a business combination.
· The carrying amount of deferred tax assets should be reviewed at each reporting period and reduced to the extent that it is no longer probable that sufficient taxable profit will be available to allow the benefit of part or all of that deferred tax asset to be utilised.
· Any such reduction should be subsequently reversed to the extent that it becomes probable that sufficient taxable profit will be available.

· The recognition of deferred tax assets will result in the recognition of income, in the income statement. This amount cannot be reported in equity as IAS 12 only allows deferred tax to be recognised in equity if the corresponding entry is recognized in equity. This is not the case in this situation as the revaluation was not recognised for IFRS purposes.
	
	Carrying amount
	Tax base
	Temporary difference

	
	$m
	$m
	$m

	Property
	50
	65
	15

	Vehicles
	30
	35
	5

	Other taxable temporary differences
	
	
	(5)

	
	
	
	15


The deferred tax asset would be $15 million × 30%, i.e. $4·5 million subject to there being sufficient taxable profit. The deferred tax provision relating to these assets would have been:
	
	Carrying amount
	Tax base
	Temporary difference

	
	$m
	$m
	$m

	Property
	50
	48
	2

	Vehicles
	30
	28
	2

	
	
	
	4

	Other taxable temporary differences
	
	
	5

	
	
	
	9


$9 million at 30%, i.e. $2·7 million
· The impact on the income statement would be significant as the deferred tax provision of $2·7 million would be released and a deferred tax asset of $4·5 million credited to it.
· These adjustments will not affect profit before interest and tax. However an asset of $4·5 million will be created in the statement of financial position which will affect ROCE.
(c)

· At each reporting period, Ghorse should review all assets to look for any indication that an asset may be impaired, i.e. where the asset’s carrying amount ($3 million) is in excess of the greater of its net selling price and its value in use.
· IAS 36 has a list of external and internal indicators of impairment. If there is an indication that an asset may be impaired, then the asset’s recoverable amount must be calculated.
· The recoverable amount is the higher of an asset’s fair value less costs to sell (sometimes called net selling price) and its value in use which is the discounted present value of estimated future cash flows expected to arise from:
(i)
the continuing use of an asset, and from

(ii)
its disposal at the end of its useful life
· If the manufacturer has reduced the selling price, it does not mean necessarily that the asset is impaired. One indicator of impairment is where the asset’s market value has declined significantly more than expected in the period as a result of the passage of time or normal usage. The value-in-use of the equipment will be $4·7 million.
	Year ended 31 October
	Cash flows
	Discounted (10%)

	
	$m
	$m

	2008
	1.3
	1.2

	2009
	2.2
	1.8

	2010
	2.3
	1.7

	Value in use
	
	4.7


· The fair value less costs to sell of the asset is estimated at $2 million. Therefore, the recoverable amount is $4·7 million which is higher than the carrying value of $3 million and, therefore, the equipment is not impaired with no effect on ROCE.
(d)

· Under IAS17, ‘Leases’, operating lease payments should be recognised as an expense in the income statement over the lease term on a straight line basis, unless another systematic basis is more representative of the time pattern of the user’s benefit.
· The provisions of the lease have changed significantly and would need to be reassessed.
· The lease term is now for the major part of the economic life of the assets, and at the inception of the lease, the present value of the minimum lease payments is substantially all of the fair value of the leased asset. (Fair value $35 million, NPV of lease payments $34·1 million) Even if title is not transferred at the end of the lease the lease can still be a finance lease.
· Any change in the estimate of the length of life of a lease would not change its classification but where the provisions of the lease have changed, re-assessment of its classification takes place. Thus it would appear that the lease is now a finance lease, and it would be shown in the statement of financial position at the present value of the lease payments as this is lower than the fair value.
· This change in classification will not affect ROCE as it will increase non-current assets by $34·1 million and liabilities by the same amount.
Effect on ROCE
	
	$m

	Profit before tax and interest
	30

	Add: Increase in value of disposal group
	15

	
	45

	
	

	Capital employed
	220

	Add: Increase in value of disposal group
	15

	Deferred tax asset (4.5 + 2.7)
	7.2

	
	242.2


ROCE will rise from 13·6% to 18·6% (45/242·2) and thus the directors’ fears that ROCE would be adversely affected are unfounded.
ACCA Marking Scheme

	(a)
	Disposal group
	7

	(b)
	Deferred tax asset
	6

	(c)
	Impairment
	5

	(d)
	Lease
	5

	
	Formation of opinion of impact on ROCE
	2

	
	Total
	25


Answer 2 - Kesare
(a)

· IAS 12 income taxes is based on the idea that all changes in assets and liabilities have unavoidable tax consequences.

· Where the recognition criteria in IFRS are different from those in tax law, the carrying amount of an asset or liability in the financial statements is different from its tax base. These differences are known as temporary differences.

· The practical effect of these differences is that a transaction or event occurs in a different accounting period from its tax consequences. For example, depreciation is recognized in the financial statements in different accounting periods from capital allowances

· IAS 12 requires a company to make full provision for the tax effects of temporary differences. Both deferred tax assets, and deferred tax liabilities.

· It may be argued that deferred tax asset and liabilities do not meet the definition of assets and liabilities in the IASB Conceptual Framework. Under the Conceptual Framework an asset is the right to receive economic benefits as a result of past events, and a liability is an obligation to transfer economic benefits, again as a result of past events.

· Conceptually there is a weakness in this approach as only one of the liabilities that is tax, is being provided for and not other costs which will be incurred, such as overhead costs. The principal issue in accounting for deferred tax is how to account for the future tax consequences of the future recovery or settlement of the carrying amounts of the assets and liabilities.
(b)

	
	
	Adjustments to financial statements
	Adjusted financial statements
	Tax base
	Temporary difference

	
	$000
	$000
	$000
	$000
	$000

	Property, plant and equipment
	10,000
	
	10,000
	2,400
	7,600

	Goodwill
	6,000
	
	6,000
	6,000
	-

	Other intangible assets
	5,000
	
	5,000
	0
	5,000

	Financial assets (cost)
	9,000
	1,500
	10,500
	9,000
	1,500

	Total non-current assets
	30,000
	
	31,500
	
	

	
	
	
	
	
	

	Trade receivables
	7,000
	
	7,000
	7,500
	(500)

	Other receivables
	4,600
	
	4,600
	5,000
	(400)

	Cash and cash equivalents
	6,700
	
	6,700
	6,700
	-

	Total current assets
	18,300
	
	18,300
	
	

	
	
	
	
	
	

	Total assets
	48,300
	
	49,800
	
	

	
	
	
	
	
	

	Share capital
	(9,000)
	
	(9,000)
	
	

	Other reserves
	(4,500)
	(1,500)
	(6,400)
	
	

	
	
	(400)
	
	
	

	Retained earnings
	(9,130)
	520
	(8,610)
	
	

	Total equity
	(22,630)
	
	(24,010)
	
	

	
	
	
	
	
	

	Long-term borrowings
	(10,000)
	400
	(9,600)
	(10,000)
	400

	Deferred tax liability
	(3,600)
	
	(3,600)
	(3,600)
	-

	Employee benefits
	(4,000)
	(520)
	(4,520)
	(5,000)
	480

	Current tax liability
	(3,070)
	
	(3,070)
	(3,070)
	-

	Trade and other payables
	(5,000)
	
	(5,000)
	(4,000)
	(1,000)

	Total liabilities
	(25,670)
	
	(25,790)
	
	13,080

	
	
	
	
	
	

	Total equity and liabilities
	48,300
	
	49,800
	
	

	
	
	
	
	
	

	Deferred tax liability
	
	
	
	
	

	Liability b/f
	
	
	
	
	3,600

	Charge (bal. fig.)
	
	
	
	
	324

	Deferred tax liability c/f
	14,980 × 30%
	
	4,494
	

	Deferred tax asset c/f
	1,900 × 30%
	
	(570)
	

	Net deferred tax liability
	13,080 × 30%
	
	
	3,924


(i)
The investment in equity instruments are shown at cost. However, per IFRS 9, they should be instead be valued at fair value, with the increase ($10,500 – $9,000 = $1,500) going to other comprehensive income (items that will not be reclassified to profit or loss) as per the irrecoverable election.
(ii)
IAS 32 states that convertible bonds must be split into debt and equity components. This involves reducing debt and increasing equity by $400.
(iii)
The defined benefit plan needs to be adjusted to reflect the change. The liability must be increased by $520,000. The same amount is charged to retained earnings.
(iv)
As the development costs have been allowed for tax already, it will have a tax base of zero. Goodwill is measured as a residual and, therefore, the impact is not measured under IAS 12.

(v)
The accrual for compensation will not be allowed until a later period and, therefore, will reduce the tax base relating to trade and other payables (reduced by $1m).
Answer 3 – Cohort
Acquisition of the subsidiaries – general
· The acquisition of the subsidiaries during the year has an impact on the deferred taxation charge.
· The deferred tax position is reviewed as that of the enlarged group as a whole. Individual companies may not be able to recognise, for example, a deferred tax asset but it may now be able to because there are tax profits of the acquiree available to utilise any unused tax losses.
· Thus provision is made for all differences between the fair values recognised for the net assets (Air $4 million) and their tax bases (Air $3·5 million).
· No provision is required in respect of the temporary difference arising on the recognition of non tax deductible goodwill (Air $1 million).
Future listing

· Cohort is planning to list its shares on a recognised stock exchange with no new shares being issued. The company will become a publicly traded company and given the directors’ belief in the growth of the company, it would appear that the company will in the future be subject to the standard rate of taxation for public companies.
· Deferred taxation should be measured at the average tax rates expected to apply when the asset is realised or the liability is settled, based on current enacted tax rates and laws.
· Some of the temporary differences may reverse at the higher tax rate and thus deferred tax should be provided at this rate.
Acquisition of Air

(a)
· There is some doubt as to the acceptability of the directors’ opinion that the intangible asset of $0·5 million will be allowed for tax purposes. 
· The directors will compute taxable profit based upon the premise that the intangible asset will be deductible for tax purposes.
· There is the possibility that the company will have to return the excess benefit to the tax authority and thus if the directors insist on deducting the intangible asset for tax purposes then a liability for that excess tax benefit should be recognised.

(b)
· The intra group unrealized profit in inventory is eliminated on consolidation ($0·6 million) but no equivalent adjustment is made for tax purposes.
· Taxes paid by the seller on these profits have been included in the consolidated income statement for the period. The temporary difference between the carrying amount of inventory ($1·2 million) and its higher tax base ($1·8 million) is provided for at the receiving company’s rate of tax (Cohort) since the temporary difference arises in its statements.

(c)
· Provision is required on the unremitted profits of subsidiaries if the parent company is unable to control the timing of the remittance or it is probable that remittance will take place in the foreseeable future.
· Cohort seems to be recovering the carrying value of its investment in Air. The payment of the dividends is under the control of Cohort and it would not normally recognise the deferred tax liability in respect of the undistributed profits of Air.
· However, as the profits are to be distributed, and tax would be payable on the amount remitted, then a provision for deferred tax should be made.
Acquisition of Legion

(a)

· When a portfolio of investments are revalued in excess of the previous carrying amount, then a temporary difference will arise if the tax treatment of the revaluation surplus differs from the accounting treatment.
· The revaluation surplus has been included in the income statement. If the tax base was adjusted for the surplus then no temporary difference will arise but in this case the tax base is not adjusted as the increase in the carrying value will affect taxable income in future periods.
· Thus the difference between the carrying amount of the investments and its tax base will be a temporary difference ($4 million) and give rise to a deferred tax liability. The resultant deferred tax expense will be charged against revenue and not equity as the surplus has been recognised in the income statement.

(b)
· When the provision for the loss on the loan is first made a deductible temporary difference arises being the difference between the carrying amount and the tax base (nil) of the provision for the loss on the loan. Because the general provision is expected to increase, it is unlikely that the temporary difference will reverse in the short/medium term.
· However, this does not affect the fact that a provision for deferred tax should be made. If the provision for the loss affected neither accounting profit nor taxable profit, then no provision for deferred tax would be required.
· However, the recording of the loan loss provision affects accounting profit now and taxable profit later. However, a deferred tax asset will arise ($2 million at tax rate), and this is subject to the general test in IAS 12 that it is probable that taxable profits will be available against which the temporary difference can be utilised (see (c) below for a further explanation of this concept).

(c)
· Unrelieved tax losses can create a deferred tax asset. Deferred tax assets should be recognised to the extent that they can be regarded as recoverable.
· Recoverability is based on all the evidence available and is to the extent that it is probable that the deferred tax asset will be realised. If it is probable that either all or only part of the deferred tax asset will be realised, then a deferred tax asset should be recognised for that amount.
· Future realisation of deferred tax assets essentially depends on the existence of sufficient taxable profit of the appropriate type (operating profit or taxable gain). Normally suitable taxable profits will only be generated in the same taxable company and assessed by the same taxation authority as the income, giving rise to the deferred tax asset. The deferred tax asset will be reduced to the amount that is considered probable to be realised. The deferred tax asset should be recognised with a corresponding adjustment to goodwill.

ACCA Marking Scheme

	Air
	- acquisition
	5

	
	- intangible asset
	3

	
	- intra group profit
	3

	
	- unremitted earnings
	3

	Legion
	- long term investments
	4

	
	- loan provision
	4

	
	- deferred tax asset
	4

	
	Available
	26

	
	Maximum
	25


Answer 4 – Cate
(a)

Deferred taxation

· A deferred tax asset should be recognised for deductible temporary differences, unused tax losses and unused tax credits to the extent that it is probable that taxable profit will be available against which the deductible temporary differences can be utilised.
· The recognition of deferred tax assets on losses carried forward does not seem to be in accordance with IAS 12 Income Taxes.
· Cate is not able to provide convincing evidence that sufficient taxable profits will be generated against which the unused tax losses can be offset.
· According to IAS 12 the existence of unused tax losses is strong evidence that future taxable profit may not be available against which to offset the losses. Therefore when an entity has a history of recent losses, the entity recognises deferred tax assets arising from unused tax losses only to the extent that the entity has sufficient taxable temporary differences or there is convincing other evidence that sufficient taxable profit will be available.
· As Cate has a history of recent losses and as it does not have sufficient taxable temporary differences, Cate needs to provide convincing other evidence that sufficient taxable profit would be available against which the unused tax losses could be offset. The unused tax losses in question did not result from identifiable causes, which were unlikely to recur (IAS 12) as the losses are due to ordinary business activities.
· Additionally there are no tax planning opportunities available to Cate that would create taxable profit in the period in which the unused tax losses could be offset (IAS 12).
· Thus at 31 May 2010 it is unlikely that the entity would generate taxable profits before the unused tax losses expired. The improved performance in 2010 would not be indicative of future good performance as Cate would have suffered a net loss before tax had it not been for the non-operating gains.
· Cate’s anticipation of improved future trading could not alone be regarded as meeting the requirement for strong evidence of future profits.
· When assessing the use of carry-forward tax losses, weight should be given to revenues from existing orders or confirmed contracts rather than those that are merely expected from improved trading. Estimates of future taxable profits can rarely be objectively verified.
· Thus the recognition of deferred tax assets on losses carried forward is not in accordance with IAS 12 as Cate is not able to provide convincing evidence that sufficient taxable profits would be generated against which the unused tax losses could be offset.
(b)

Investment

· Cate’s position for an investment where the investor has significant influence and its method of calculating fair value can be challenged.
· An asset’s recoverable amount represents its greatest value to the business in terms of its cash flows that it can generate i.e. the higher of fair value less costs to sell (which is what the asset can be sold for less direct selling expenses) and value in use (the cash flows that are expected to be generated from its continued use including those from its ultimate disposal).
· The asset’s recoverable amount is compared with its carrying value to indicate any impairment. Both net selling price (NSP) and value in use can be difficult to determine. However it is not always necessary to calculate both measures, as if the NSP or value in use is greater than the carrying amount, there is no need to estimate the other amount.
· It should be possible in this case to calculate a figure for the recoverable amount. Cate’s view that market price cannot reflect the fair value of significant holdings of equity such as an investment in an associate is incorrect as IAS 36 prescribes the method of conducting the impairment test in such circumstances by stating that if there is no binding sale agreement but an asset is traded in an active market, fair value less costs to sell is the asset’s market price less the costs of disposal. Further, the appropriate market price is usually the current bid price.
· Additionally compliance with IAS 28 Investments in Associates and Joint Ventures is in doubt in terms of the non-applicability of value in use when considering impairment. IAS 28 explains that in determining the value in use of the investments, an entity estimates:
(i)
its share of the present value of the estimated future cash flows expected to be generated by the associate, including the cash flows from the operations of the associate and the proceeds on the ultimate disposal of the investment; or

(ii)
the present value of the estimated future cash flows expected to arise from dividends to be received from the investment and from its ultimate disposal.
· Estimates of future cash flows should be produced. These cash flows are then discounted to present value hence giving value in use.
· It seems as though Cate wishes to avoid an impairment charge on the investment.
(c)

Disposal group ‘held for sale’
· IAS 27 (Revised) Consolidated and Separate Financial Statements moved IFRS to the use of the economic entity model. The economic entity approach treats all providers of equity capital as shareholders of the entity, even when they are not shareholders in the parent company.
· This concept has been retained in IFRS 10 Consolidated Financial Statements which supersedes IAS 27 for all matters dealing with consolidated accounts.

· IFRS 5 has been amended such that if there is an intention to dispose of a controlling interest in a subsidiary which meets the definition of held for sale, then the net assets are classified as held for sale, irrespective of whether the parent was expected to retain an interest after the disposal.

· A partial disposal of an interest in a subsidiary in which the parent company loses control but retains an interest as an associate or trade investment creates the recognition of a gain or loss on the entire interest.
· A gain or loss is recognised on the part that has been disposed of and a further holding gain or loss is recognised on the interest retained, being the difference between the fair value of the interest and the book value of the interest. The gains are recognised in the statement of comprehensive income. Any prior gains or loss recognised in other components of equity would now become realised in the statement of comprehensive income.
· In this case, Cate should stop consolidating Date on a line-by-line basis from the date that control was lost. Further investigation is required into whether the holding is treated as an associate or trade investment. The agreement that Cate is no longer represented on the board or able to participate in management would suggest loss of significant influence despite the 35% of voting rights retained. The retained interest would be recognised at fair value.
· An entity classifies a disposal group as held for sale if its carrying amount will be recovered mainly through selling the asset rather than through usage and intends to dispose of it in a single transaction.
· The conditions for a non-current asset or disposal group to be classified as held for sale are as follows:
(i)
The assets must be available for immediate sale in their present condition and its sale must be highly probable.

(ii)
The asset must be currently marketed actively at a price that is reasonable in relational to its current fair value.

(iii)
The sale should be completed or expected to be so, within a year from the date of the classification.

(iv)
The actions required to complete the planned sale will have been made and it is unlikely that the plan will be significantly changed or withdrawn.

(v)
Management is committed to a plan to sell.
· Cate has not met all of the conditions of IFRS 5 but it could be argued that the best presentation in the financial statements was that set out in IFRS 5 for the following reasons.
· The issue of dilution is not addressed by IFRS and the decision not to subscribe to the issue of new shares of Date is clearly a change in the strategy of Cate.
· Further, by deciding not to subscribe to the issue of new shares of Date, Cate agreed to the dilution and the loss of control which could be argued is similar to a decision to sell shares while retaining a continuing interest in the entity.
· Also Date represents a separate line of business, which is a determining factor in IFRS 5, and information disclosed on IFRS 5 principles highlights the impact of Date on Cate’s financial statements.
· Finally, the agreement between Date’s shareholders confirms that Cate has lost control over its former subsidiary.
· Therefore, in the absence of a specific Standard or Interpretation applying to this situation, IAS 8 Accounting policies, changes in accounting estimates and errors states that management should use its judgment and refer to other IFRS and the Framework.
· Thus considering the requirements of IFRS 10 and the above discussion, it could be concluded that the presentation based on IFRS 5 principles selected by the issuer was consistent with the accounting treatment required by IFRS 10 when a parent company loses control of subsidiary.

(d)

Defined benefit plan

· The Plan is not a defined contribution plan because Cate has a legal or constructive obligation to pay further contributions if the fund does not have sufficient assets to pay all employee benefits relating to employee service in the current and prior periods.

· All other post-employment benefit plans that do not qualify as a defined contribution plan are, by definition therefore defined benefit plans. Defined benefit plans may be unfunded, or they may be wholly or partly funded.
· Also IAS 19 indicates that Cate’s plan is a defined benefit plan as IAS 19 provides examples where an entity’s obligation is not limited to the amount that it agrees to contribute to the fund.
· These examples include:
· a plan benefit formula that is not linked solely to the amount of contributions (which is the case in this instance); and
· those informal practices that give rise to a constructive obligation.
· According to the terms of the Plan, if Cate opts to terminate, Cate is responsible for discharging the liability created by the plan. IAS 19 says that an entity should account not only for its legal obligation under the formal terms of a defined benefit plan, but also for any constructive obligation that arises from the enterprise’s informal practices.
· Informal practices give rise to a constructive obligation where the enterprise has no realistic alternative but to pay employee benefits.
· Even if the Plan were not considered to be a defined benefit plan under IAS 19, Cate would have a constructive obligation to provide the benefit, having a history of paying benefits. The practice has created a valid expectation on the part of employees that the amounts will be paid in the future.
· Therefore Cate should account for the Plan as a defined benefit plan in accordance with IAS 19. Cate has to recognise, at a minimum, its net present liability for the benefits to be paid under the Plan.
Answer 30 – Panel
(a)(i)
· IAS12 ‘Income Taxes’ adopts a balance sheet approach to accounting for deferred taxation. The IAS adopts a full provision approach to accounting for deferred taxation.
· It is assumed that the recovery of all assets and the settlement of all liabilities have tax consequences and that these consequences can be estimated reliably and are unavoidable.
· IFRS recognition criteria are generally different from those embodied in tax law, and thus ‘temporary’ differences will arise which represent the difference between the carrying amount of an asset and liability and its basis for taxation purposes (tax base).
· The principle is that a company will settle its liabilities and recover its assets over time and at that point the tax consequences will crystallise.
· Thus a change in an accounting standard will often affect the carrying value of an asset or liability which in turn will affect the amount of the temporary difference between the carrying value and the tax base. This in turn will affect the amount of the deferred taxation provision which is the tax rate multiplied by the amount of the temporary differences (assuming a net liability for deferred tax.)
(a)(ii)

· A company has to apply IAS 12 to the temporary differences between the carrying amount of the assets and liabilities in its opening IFRS statement of financial position (1 November 2003) and their tax bases (IFRS 1 ‘First time adoption of IFRS’). The deferred tax provision will be calculated using tax rates that have been enacted or substantially enacted by the balance sheet date. The carrying values of the assets and liabilities at the opening balance sheet date will be determined by reference to IFRS 1 and will use the applicable IFRS in the first IFRS financial statements. Any adjustments required to the deferred tax balance will be recognised directly in retained earnings.
· Subsequent statement of financial position (at 31 October 2004 and 31 October 2005) will be drawn up using the IFRS used in the financial statements to 31 October 2005. The deferred tax provision will be adjusted as at 31 October 2004 and then as at 31 October 2005 to reflect the temporary differences arising at those dates.
(b)(i)

· The tax deduction is based on the option’s intrinsic value which is the difference between the market price and exercise price of the share option.
· It is likely that a deferred tax asset will arise which represents the difference between the tax base of the employee’s service received to date and the carrying amount which will effectively normally be zero.
· The recognition of the deferred tax asset should be dealt with on the following basis:
(a)
if the estimated or actual tax deduction is less than or equal to the cumulative recognised expense then the associated tax benefits are recognised in the income statement.
(b)
if the estimated or actual tax deduction exceeds the cumulative recognised compensation expense then the excess tax benefits are recognised directly in a separate component of equity.
· As regards the tax effects of the share options in the year to 31 October 2004, the tax deduction is nil, so less than the cumulative recognized expense of $20 million ($40m ÷ 2). So the tax benefit will be recognized in profit or loss.
· The tax benefit is 30% × $16m ÷ 2 = $2.4m, which will be recognized within the deferred tax provision.

· At 31 October 2005, the options have been exercised. Tax receivable will be 30% × $46m, i.e. $13.8m. The deferred tax asset of $2.4 million is no longer recognized as the tax benefit has crystallized at the date when the options were exercised.

· For a tax benefit to be recognized in the year to 31 October 2004, the provision of IAS 12 should be complied with as regards whether the deferred tax asset should be recognized.
· For a tax benefit to be recognized in the year to 31 October 2004, the provisions of IAS 12 should be complied with as regards whether the deferred tax asset should be recognized.

(b)(ii)

· Plant acquired under a finance lease will be recorded as property, plant and equipment and a corresponding liability for the obligation to pay future rentals.
· Rents payable are apportioned between the finance charge and a reduction of the outstanding obligation.
· A temporary difference will effectively arise between the value of the plant for accounting purposes and the equivalent of the outstanding obligation as the annual rental payments qualify for tax relief.
· The tax base of the asset is the amount deductible for tax in future which is zero.
· The tax base of the liability is the carrying amount less any future tax deductible amounts which will give a tax base of zero. Thus the net temporary difference will be:
	
	Value in financial statements
	
	Liability
	Temporary difference

	
	$m
	
	$m
	$m

	NPV
	12
	Liability
	12
	

	
	
	Repayment
	(3)
	

	Depreciation
	(2.4)
	Interest (8% × 12)
	0.96
	

	
	9.6
	
	9.96
	0.36


A deferred tax asset of $0·36m at 30% i.e. $108,000 will arise.
(a)(iii)

· The subsidiary, Pins, has made a profit of $2 million on the transaction with Panel. These goods are held in inventory at the year end and a consolidation adjustment of an equivalent amount will be made against profit and inventory.
· Pins will have provided for the tax on this profit as part of its current tax liability. This tax will need to be eliminated at the group level and this will be done by recognising a deferred tax asset of $2 million x 30%, i.e. $600,000.
· Thus any consolidation adjustments that have the effect of deferring or accelerating tax when viewed from a group perspective will be accounted for as part of the deferred tax provision. Group profit will be different to the sum of the profits of the individual group companies.
· Tax is normally payable on the profits of the individual companies. Thus there is a need to account for this temporary difference.
· IAS 12 does not specifically address the issue of which tax rate should be used to calculate the deferred tax provision. IAS 12 does generally say that regard should be had to the expected recovery or settlement of the tax. This would be generally consistent with using the rate applicable to the transferee company (Panel) rather than the transferor (Pins).
(a)(iv)

· The recognition of the impairment loss by Nails reduces the carrying value of the property, plant and equipment of the company and hence the taxable temporary difference.
· The deferred tax liability will, therefore, be reduced accordingly.
· No deferred tax would have been recognised on the goodwill in accordance with IAS 12 and, therefore, the impairment loss relating to the goodwill does not cause an adjustment to the deferred tax position.
	
	Goodwill
	Property, plant and equipment
	Tax base

	
	$m
	$m
	$m

	Balance 31 October 2005
	1
	6
	

	Impairment loss
	(1)
	(0.8)
	

	
	-
	5.2
	4


· The deferred tax liability before the impairment loss is (6 – 4) at 30% i.e. $0.6 million.
· After the impairment loss it is (5.2 – 4) at 30% i.e. $0.36 million, thus reducing the liability by $0.24 million.
ACCA Marking Scheme

	(a)(i)
	Discussion
	5

	(a)(ii)
	IFRS 1
	4

	(b)(i)
	Share options
	4

	(b)(ii)
	Leased asset
	4

	(b)(iii)
	Unrealized profit
	4

	(b)(iv)
	Impairment loss
	4

	
	Total
	25


Answer 31 – Nette
(a)

The ‘Framework for the Preparation and Presentation of Financial Statements’ provides a conceptual underpinning for the International Financial Reporting Standards (IFRS). IFRS are based on the Framework and its aim is to provide a framework for the formulation of accounting standards. If accounting issues arise which are not covered by accounting standards then the ‘Framework’ can provide a basis for the resolution of such issues. The Framework deals with several areas:
(i)
the objective of financial statements

(ii)
the underlying assumptions

(iii)
the qualitative characteristics of financial information

(iv)
the elements of financial statements

(v)
recognition in financial statements

(vi)
measurement in financial statements

(vii)
concepts of capital and capital maintenance
The Framework adopts an approach which builds corporate reporting around the definitions of assets and liabilities and the criteria for recognising and measuring them in the balance sheet. This approach views accounting in a different way to most companies. The notion that the measurement and recognition of assets and liabilities is the starting point for the determination of the profit of the business does not sit easily with most practising accountants who see the transactions of the company as the basis for accounting. The Framework provides a useful basis for discussion and is an aid to academic thought. However, it seems to ignore the many legal and business roles that financial statements play. In many jurisdictions, the financial statements form the basis of dividend payments, the starting point for the assessment of taxation, and often the basis for executive remuneration. A balance sheet, fair value system which the IASB seems to favour would have a major impact on the above elements, and would not currently fit the practice of accounting. Very few companies fit this practice of accounting. Very few companies take into account the principles embodied in the Framework unless those principles themselves are embodied in an accounting standard. Some International Accounting Standards are inconsistent with the Framework primarily because they were issued earlier than the Framework. The Framework is a useful basis for financial reporting but a fundamental change in the current basis of financial reporting will be required for it to have any practical application. The IASB seems intent on ensuring that this change will take place.
Note that there is a long-term joint project between the IASB and US FASB to develop a common conceptual framework. Currently, the definitions of the various elements of the financial statements have been adopted from the previous edition of the Framework document. As at November 2011, the Conceptual Framework for Financial Reporting 2010 project comprises eight phases which, once complete, will lead to the withdrawal of the current Framework document.

(b)(i)

Situation 1

· Under IAS 37 ‘Provisions, Contingent Liabilities and Contingent Assets’, a provision should be made at the reporting date for the discounted cost of the removal of the extraction facility because of the following reasons:
(i)
The installation of the facility creates an obligating event
(ii)
The operating licence creates a legal obligation which is likely to occur

(iii)
The costs of removal will have to be incurred irrespective of the future operations of the company and cannot be avoided

(iv)
A transfer of economic benefits (i.e. the costs of removal) will be required to settle the obligation

(v)
A reasonable estimate of the obligation can be made although it is difficult to estimate a cost which will be incurred in twenty years time (IAS 37 says that only in exceptional circumstances will it not be possible to make some estimate of the obligation).
· The cost to be incurred will be treated as part of the cost of the facility to be depreciated over its production life.
· However, the costs relating to the damage caused by the extraction should not be included in the provision, until the gas is extracted which in this case would be 20% of the total discounted provision. The accounting for the provision is as follows:
[image: image1.emf]
Note 2

· A simple straight line basis has been used to calculate the required provision for damage.
· A more complex method could be used whereby the present value of the expected cost of the provision ($10m) is provided for over 20 years and the discount thereon is unwound over its life. This would give a charge in the year of $0·5m + $10m x 5% i.e. $1m.
Situation 2
A provision for deferred tax should be made under IAS12 ‘Income Taxes’ as follows:
	
	Carrying amount ($m)
	Tax base ($m)
	Temporary difference ($m)

	Building
	9 – 1.8 = 7.2
	8 × 75% = 6
	1.2

	Additional temporary differences
	
	
	40

	Total temporary differences
	
	
	41.2

	
	
	
	× 30%

	Deferred tax liabilities
	
	
	12.36

	
	
	
	

	Warranty
	4
	0
	4

	Tax losses
	70
	0
	70

	Total temporary differences
	
	
	74

	
	
	
	× 30%

	Deferred tax assets
	
	
	22.2


· The company would recognise a deferred tax asset of at least $41·2 million of the temporary differences of $74 million at the tax rate of 30%.
· If the company could prove that suitable taxable profits were available in the future or that tax planning opportunities were available to create suitable taxable profits, then the balance of the deferred tax asset ($32·8 million at tax rate of 30%) could be recognised.
(b)(ii)
Provisions
· The IASB’s ‘Framework’ would require recognition of the full discounted liability for the decommissioning.
· The problem is that this can only be achieved by creating an asset on the other side of the statement of financial position. This asset struggles to meet the Framework’s definition of an asset and is somewhat dubious by nature.
· An asset is a resource controlled by the company as a result of past events and from which future economic benefits are expected to flow. It is difficult to see how a future cost can meet this definition.
· The other strange aspect to the treatment of this item is that depreciation (and hence part of the provision) will be treated as an operating cost and the unwinding of the discount could be treated as a finance cost. This latter treatment could fail any qualitative test in terms of the relevance and reliability of the information.
· A liability is defined in the Framework as a present obligation arising from past events, the settlement of which is expected to result in an outflow of economic benefits. The idea of a ‘constructive obligation’ utilised in IAS 37 is also included as a requirement in the Framework. Assets and liabilities are essentially a collection of rights and obligations.
Deferred tax

· The provision for deferred taxation does not meet the criteria for a liability (or an asset) as set out in the Framework. The only tax liability (present obligation as a result of past events) is in fact the ‘current tax’ due to the tax authorities. A deferred tax liability can be avoided, for example, if a company makes future losses, and with suitable tax planning strategies it may never result in taxable amounts.
· A deferred tax asset is dependent upon the certainty of future profits or tax planning opportunities. It can be argued that a deferred tax asset does not confer any ‘right’ to future economic benefits as future profits are never certain.
Grant

· Additionally the grant of $2 million has been treated as a liability in the financial statements. Unless there are circumstances in which the grant has to be repaid, it is also unlikely to meet the definition of a liability.
ACCA Marking Scheme
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